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Choose The Correct Answer for Each of the Following Questions

1. The hybridization of the carbons in benzene is

A) sp B) sp’d C) sp®

D) sp?

2. Which of the following compounds has the common name p-xylene?

OH

3. The product of the following reaction is

CN
S03, H,S0,
_— >
oo w O amos o

NO, HO,S

4. In the following reaction, the reactant X is

COOH
S
KIVII’IO4/ OH /HzO

X
COOH

e s ve

5. The structure of p-chlorobenzyl bromide is

CH2C1 2BI' CHBI'Z

CH
Br Cl Cl

NH,
D)

OH

D) QCN

Y

Br
D)

Cl



10.

The reagent used in the following transformation is

@A;

A) CL/Light B) Clo/FeCls C) HCI D) HCI/H20

Cl

The correct IUPAC name of the following structure is

HyC OH  CH,

H,C CH;

H,C CH,
A) 1-hydroxy-3-methyl-6-isopropylbenzene B) 5-methyl-2-t-butylphenol
C) 3-hydroxy-4-t-butyl-1-methylbenzene D) 2,6-Di-t-butylphenol

Which of the following compounds cannot be classified as a secondary halide?

A) Isopropyl bromide B) Cyclohexyl iodide
C) 1-Chloro-1-isopropylcyclopentane D) 2-Bromobutane

The IUPAC name for Allyl chloride is

A) 3-Chloro-1-propene B) 1-Chloro-1-propene
C) 1-Chloro-2-propene D) 2-Chloropropane

In the following sequence of reactions,

CH;CH,CI %» A @, B _Hf?_)» o
The compound ‘C’ is
A) propanal B) n-butyl alcohol
C) n-propyl alcohol D) isopropyl alcohol
11. Oxidation of tertiary alcohol yields
A) Aldehyde B) No reaction C) Ketone D) Carboxylic acid



12. Among the following alkenes, which one produces tert-butyl alcohol upon acid-
catalyzed hydration?

A) CHs — CH = CH - CH3 B) (CH3).C = CHz
C) CH; — CHz2 — CH = CH» D) CHs — CH = CH»

13. What is the correct name for the following compound?

OH

A) 2-Pentyl-4-penten-1-ol B) 4-Pentyl-1-penten-5-ol
C) 2-Allyl-1-heptanol D) 6-Allyl-7-heptanol

14. The resulting product from the following reaction is

OH

PCl,

Cl HO HO cl
OH
Cl Cl Cl

15. What reagent is needed to accomplish the following transformation?

SO,H OH
O C
A) NaxCr207/ heat / H3O" B) NaOH /heat / H3;O"
C) KMnOs / H30O" D) Na/ heat / H3O"

16. The most acidic compound is

OH OH OH

A) © B) C) CH;CH,OH D)

OCH, NO,



17.

18.

19.

20.

21.

22.

23.

The IUPAC name of Anisole is

A) Methoxybenzene B) Phenyl ether

C) t-Butyl methyl ether D) Ethyl phenyl ether
The common name for 1,2-Ethanediol is

A) Ethane glycol B) Glycerol

C) Ehylene glycol D) Dihydroxy ethane
The following reaction yields

Excess Br,
HO e ——
H,0

A) 2,4,6-Tribromophenol B) m-Bromophenol
C) 2,4-Dibromophenol D) 0-Bromophenol
The following reaction gives

\v/ HBr

O
A) 2-Bromo-3-butanol. B) 3-Bromo-2-butanol.
C) 2-Bromobutanoxide. D) 1-Bromo-2-butanol.
Ether is more volatile than an alcohol having the same molecular formula. This

is due to

A) Dipolar character of ethers B) Hydrogen bonding in alcohols
C) Alcohols having resonance structures D) Hydrogen bonding in ethers
Bromoethane reacts with X to form diethyl ether. What is X?
A) NaOH B) H2SO4 C) C2H50ONa D) Nax2S203
The correct IUPAC for the following compound is
Br

/\O)\/
A) 3-Bromo-3-ethoxy-1-propene B) 3-Bromo-3-methoxy-1-propene.
C) 4-Bromo-5-hexene. D) 1-Bromo-1-ethoxy-2-propene.



24. What is the best reagent needed for the following reaction?

/\)\ ? J\+ HJ\/

A) 02/ Zn B) LiAlHa C) PCC D) i) O3, ii) Zn/ H20

25. The product of the following reaction is

Q: o NHyOH
OH OC,Hs OH
OF O oDy (T

ONH, OH OH NH,

26. The correct IUPAC name of the following structure is

O)\/\(\'/

A) 2,4-Dimethyl-5-heptanal B) 2,4-Dimethyl-7-heptenal
C) 5-Isopropyl-4-methyl-2-pentenal D) 4,6-Dimethyl-2-heptenal

27. The product of the following reaction is

o
\)J\ 1)CH;MgBr
H H&) >

2) H207

OH

Br OH \O
A) \)\ B) \)\ ®) \)\ D) \Ao

28. The product of the following reaction is

H

A HCN

H H CN CN

N N C) H3C)\OH /§

A H,c” Yo B, Sone D) g, o



29. The correct name of the following is

O
PN
A) 2-methyl-2-penten-4-one B) 4-methyl-3-penten-2-one
C) 1,3-dimethyl-2-pentenal D) isopentenone

30. Which functional group is not present in the following structure?

OH H3C CH3
H;C (@) CH
3 i
A) Tertiary alcohol B) Tertiary alkyl halide
C) Ether D) Hemiacetal



